Introduction to Computer Programming (COP 3223) Test #2(Version A) 3/2/2012 

1) Which of the following lines of C code prints out the character n exactly 5 times?

a) printf(“nnnn\n”);
b) printf(“\nn\nn\nn\nn”);

c) printf(“\n\n\n\n\n”);
d) printf(“nn\nnn\nn”);

e) None of the Above

2) Which of the following lines of C code reads in two integers into the integer variables x and y? Assume x and y have already been declared.

a) scanf(“%d%d”, &x, &y);
b) scanf(“%f%f”, &x, &y);

c) scanf(“%d%d”, x, y);

d) scanf(“%f%f”, x, y);

e) None of the Above

3) Which of the following C expressions evaluates to a random integer in between 10 and 20, inclusive? (Note: In order for the response to be correct, each integer in between 10 and 20, inclusive, must have some positive chance of being generated while all other integers must have a chance of 0 of being generated.)

a) rand(20);

b) 10 + rand()%10

c) rand()%21

d) rand()%21 – rand()%10

e) None of the Above

4) What is typically the last line of function main of a C program?

a) printf(“Good bye!\n”);
b) return 0;

c) return “done”;


d) system(“PAUSE”);
e) None of the Above

5) What is the value of the following arithmetic expression in C?

3 + 37%(14 – 17/5)

a) 3

b) 7

c) 8

d)40

e) None of the Above
6) Given that the variable x equals 0, which of the following boolean expressions evaluates to true (1)?

a) x = 0
  b) x == 1
c) x <= 0

d) x > 0 

e) None of the Above 
 Questions 7 – 11 will involve the code segment shown below:

int i,j,n;




// line 1

printf(“Enter n.”);



// line 2

scanf(“%d”, &n);



// line 3

for (i=0; i<n; i++) {


// line 5

    for (j=0; j<i; j++)


// line 6

        printf(“ “);


// line 7

    for (j=i; j<n; j++)


// line 8

        printf(“*”);


// line 9

    printf(“\n”);



// line 10

}






// line 11

7) What shape does this code segment print out? (Choose the most accurate answer.)

a) Square

b) Rectangle

c) Parallelogram

d) Circle

e) None of the Above

8) If we run this segment of code, entering 7 for n, how many stars(‘*’) will print total?

a) 7

b) 21

c) 28

d) 70

e) None of the Above

9) If we were to change line 8 to read   for (j=0; j<n; j++) which shape would print out? (Make the most accurate selection of those provided.)

a) Square

b) Rectangle

c) Parallelogram

d) Circle
e) Ellipse
10) If we changed line 7 to   printf(“*”)and keep everything else as originally written, what shape would print out? (Make the most accurate selection of those provided.)

a) Square

b) Triangle

c) Parallelogram

d) Circle

e) Ellipse
11) If we were to remove line 10 and keep everything else as originally written, what would the output be if we entered 5 for n?

a)***** ****  ***   **    *

b) ****  ***   **    *

c)    *   **  *** ********

d)         *   **  *** ****

e) None of the Above

Questions 12 – 16 will involve the incomplete code segment shown below:

int x, y, n;

printf(“Enter n.\n”);

scanf(“%d”, &n);

for (x=1; x<n; x++) {

    for (/*** EXPR 1 ***/; /*** EXPR2 ***/; y++) {

        printf(“%d + %d + %d = %d\n”, x, y, /***EXPR3 ***/, n);

    }

}

12) Assuming that this is an incomplete version of the last code sample shown in class on Monday, February 27th, which problem does this code segment solve?

a) Prints out all of the positive integer solutions to x + y + z = n.

b) Prints out all of the positive integer solutions to x + y + z = n with x < y and y < z.

c) Prints out all of the positive integer solutions to x + y = z.

d) Prints out all of the positive integer solutions x + y = n.

e) None of the Above

13) What should replace /*** EXPR1 ***/ ?
a) y=1

b) y=x

c) y=x+1

d) y=n

e) None of the Above

14) What should replace /*** EXPR2 ***/ ?
a) y<n-x-y
b) y<n

c) y<=n

d) x+y<n

e) None of the Above

15)  What should replace /*** EXPR3 ***/ ?
a) y


b) z


c) n


d) n-x
e) None of the Above

16) What’s the smallest value of n for which the completed version of the code above will print out at least one line of output?
a) 1

b) 3

c) 6

d) 10

e) None of the Above

17) What is the output of the following segment of code?
if (1)

    if (0)

        printf(“A”);

else

    printf(“B”);

    printf(“C”);

printf(“D”);

a) ACD
b) BCD
c) CD
d) D

e) None of the Above

18) What is the value of the following expression in C?


10 – 3*(3 – 7/4.0)

a) 10
b) 4

c)6.75 

d) 7
e) None of the Above
19) At the end of this code segment, what will be stored in value? (Assume all necessary includes have been done and that the segment of code inserted does not have variables named start, end or value.)
int start = time(0);

/*** INSERT ANY PIECE OF CODE HERE ***/

int end = time(0);

int value = end – start;
a) The number of lines of code in the inserted segment of code.
b) The number of seconds the inserted segment of code took to run.

c) The age of the user.

d) The length of the array in the segment of code.

e) None of the Above

20) In the game of kickball, what type of object typically gets kicked?

a) a ball
b) one’s head

c) a fence
d) a tackling dummy
e) a household pet

